Jail Prahari 2025
(Model Paper- 5)

Section : d1fcher 3R AT amwar

Q.1 Prerd & orima A g 2
Ans X1 dwdaw

o 2w

X 3. g

X 4w

Q.2 A Ry g wyAl & IR AT R adheiTa e s gahar gl
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gfi AR AD 21
forsepef : 1. goft Bk geft 21
1. gaft geft w21

Ans X 1 Gt e e
25 2. 2 e @igh &
7< 3. et e 1| W &
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Q.3 % sjgen & usHaTas g (?) & U uR A e
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Ans X 1 YACD

X 2.YBCE
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Tt foheTg & U # & 11000 fog S1d € ot wuw ioft & arfai & ot 7 aif
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Ans X1 %3150
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Q.5 A= U d Ry 7y faereut & @ ueearaes g & T R M aref 9=
T foRsfigl




841 784 225 196
84 ?

729 169
Ans x 1.82

X 2.62
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Q.6 foreft e <Y eriar w1er & 71fy 15 fore). uf wieT & Ga ¥RT veg &Y &= 3 farY;
ufer a1 81 12 fame # agra 6 Rz d aa fit 7 g (Reef #) &:

Ans X112
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X 418

Q.7 fRg g fReerul & | wa smepfar a1 ador ufafara aar gim?
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Ans
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Ans
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1
X
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Q.9 4 g aur 3 Aferal A fiuaT & 120 @=f fohy| 378 el A afe
3Ta & 150 fory g1 at srefanal & sitaa ==t fara=m ur ?

Ans X1 w60
v 2=80
X 3.%90
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Q.10 ek Wwiet # Afge fi 37l THahe et §T I A g, a8 AR aral & Fhedid I
FHrash Hrash g g afearma HiRd A @

Ans ?(W?ﬂ
o 2. i
X 3.amh
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Ans X 1e
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T : FO B TS &1
it ot AtarEe 81
A : 1. gaft Alarger g @1
Il. T AT B 8l
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X 2.168
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Q.22 Y YR TefepiHieR o1 Tra=y Yo T @ 8, St kR ATSiaTdY @R
Ty fraa g ?
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Ans 1.90
2.43
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Note: For this question, discrepancy is found in question/answer. Full
Marks is being awarded to all candidates.
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Ans

ddE
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Ans X 1. SRiE g
(z.mmgz?zﬁr@{%m
X 3. e & dgrar
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W 2 =
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25 4 Rurad mar &
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Q.10 WRa # Sta fafavar fit g @ it v 8 2
Ans x 1. qdfare

X 2. aR o
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25 4. Sridt ey
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K 2w
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Q.18 e HexX Bk e Yue Ak Rt fora s & wenfe e mam 2
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Ans x 1. Tsgufy
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J4.W
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Ans X'Illqam@




o 2 =i Rig
X 3. et
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Q.22 fAUTHUSH T UHE heled T E ?
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25 3. e ) st e
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X 2. arpof p siffifes
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Ans X 1 Arifam
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Q.1 09 31eT 2017 ot TSTEAUTH A ey FRemaayT & IugAE @ gd agi &
Rurmr R 42

Ans X' 1 e geraTEl
W 2. & o g
25 3. sard ot e
X 4. < 3 e

Q.2 THHY FA-2E FRT ASTEA | 77 fH aifda gan ?
Ans  of 1 @i

25 2. e ara wRidE 8

X 3. Rored ae uRate

X 4. e BTR 3he

Q.3 ot uef REr g ?
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/X 3. sifat
W 4 i
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Ans  of 1 217
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Q.5 STE2ATE T AT WRaAT & ?
Ans o 1 e

X 2. AR d

X 3 AR A

X 4 dard

Q.6 SI&d U] AT gl IR TET & ?
Ans X 1. ReRR

o 2 @

X 3. diurr

p QR

Q.7 da1 i & fog ufig uRar AT T8 2
Ans X 1. guR uRaR

W 2. a9 ofar

X 3. darad uRar

X 4. fgeia Rar

Q.8 % AUSH & VYA Tiaer fRd Frge farar man 2
Ans x 1. STafdig ereaR

X 2. 3egar Rig e

75 3. gefigeen @i wiure

W 4. wERmT TmRiE feR

Q.9 ST WRFR T Gehigpd fAhraa Fraror ida & ?
Ans X' 1 g9A @ ard A

o 2. e g aiéa

25 3. ey uiée

p R

Q.10 ISTEA H STENTR & Hgel gl fead 8 ?
Ans x 1. S

X 2. e

W 3 o=
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Q.11 gZriReprefiar 1 ufdig AR wgi A & 7
Ans X" 1 aran

o 2 Tt

X 3. ugR

X 4w

Q.12 IeRYH A Hiul AT g e a1 & ?
Ans x 1.;{7‘31

X 2. et

X 3.

W 4 g

Q.13 'qudaR & @ o fawa g 2
Ans x 1. RRE & e

X 2. @ &g

o 3 wrae e

X 4. Aare & R

Q14 oA A IR F @S A F SR AR g, aga ?
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X 2. 3R
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X 4w

Q.15 =1 T UgelT AUS Hisiae ford T 7 = frar srgm 2
Ans (1_21@1-@:{

X 2.4
X 3.7oR@
X 4. R

Q.16 31T freTs ard Y =T AT awT fer @ 2
Ans  of 1 s

K 2 T

X 3. 9RAzA

X 4. wrgor

Q.17 TSTEAT & U Sfrer1raroft e srgi TuTfaa fwar mar 2
Ans x 1-3@?

X 2. woR

W 3 s

X 4. \9Ue 31y,

Q.18 fora gif & arr ets @R wewr Iwela A iR mud TS gE @ ?
Ans  of 1 frds gt
X 2. srene gif




X 3. Reamom gt
X 4 amigt

Q.19 @ A fRae?
Ans 1. RAR H
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4.8

Note: For this question, discrepancy is found in question/answer. Full
Marks is being awarded to all candidates.
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Ans X1 e

25 2 R
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Q.22 'ARATE Y EEAT T "GIUTeITE T ST 5 S YEaehl | Y 7S ?
Ans  off 1 wRaTS HTE & g ST
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2 3. SR <Ay i ki
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Ans x 1. T7T
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Ans X" 122525435

o 2.200,25310
/< 3.200,30a10
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W 2 TR
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Ans X 122 st

X 2,22 wFEd

X 3.22mrd

o 2 22 vl

Q.28 fFu frum=auT & WTeTaT @t uget aR T agHd fer ?
Ans  off 1 arEd R

25 2. e Rerrg

75 3. zudt R

25 4. Red Rarrgen

Q.29 st & With wged & 2
Ans X 1 37 iretdE
p QYA LLCCER I
X 3. yamfis REs
of 4 e s
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